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1. What does STP stand for? w.'d *U“P"d“"jb

2. At 8TP what is the pressure? \ o (/ OﬁN\O S?\\QJ\Q

&
3. At STP what is the temperature? 0 C

4. Describe all gases at STP, by filling in the blanks:

l moles of gas at STP = 22 s L{ liters of gas
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2. A 90.0 mL volume of helium was collected under a pressure of 740 mmHg.
At what volume would the pressure of this gas be 700 mm Hg? Assume
temperature is constant.
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6. A small bubble rises from the bottom of a lake, where the temperature is 8°C and
the pressure is 6.4 atm, to the water’s surface, where the temperature is 25°C
and pressure is 1.0 atm. Calculate the final volume (in mL) of the bubble if its
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7. Determine the volume in liters of carbon dioxide that should be produced in the
l reaction between 100 g of carbon and 100. liters of 02. AF=G-theFamethree—
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8. Suppose 10.61 g of calcium was allowed to react with 8.61 liters of HCI gas to
produce calcium chloride and hydrogen gas.
a. What is the bdlanccd equatl I
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[Co + 2
b. Which reactant is hmltm‘ ? (Show ll;EOth calculations.) H . 4—\&\“« N
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c. Using the limiting reactant solve for how many ;1561"' of hydrogen W”

form at Standard Temperature and Pressure.
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9. Suppose 55.00 L of nitrogen gas and 103.00 L of hydrogen gas mixegrand
reacted to form ammonia (NH3). Calculate the volume in litgfs of a onia

produced when this reaction runs to completllo
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10. react with fluorine to form gold(l) fluoride gas and Ss.
rite a balanced reaction and then find how many liters at STP of AuF will form

if you have 333 3 gram% Gold (( ) sulfide and 7 1terq fluorine.
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